www.chllyang.com.tw

BRA

MR/ S/ BRRE /B

ANnROR

1. EANESRRNY RN - NEN - TRENRSENLEK - i -

2.—MEE ST - EETERENEZRR -

3. EATHREEN - BRHET RN - SE7IR0E -

;;;;;;

4. RIM7IER TIME - EETIERIASE - 1 R SLIPREITERER -

1 | F01-001 | GLOS-08-060-MO3 1,60 M3*05 356 | 6 1, 150
2 | F01-002 | GLO6-06-120-M03 1/120 ) M3*05 |35 |6 | B 1,200
3 | FO1-003 | GL08-08-060-M04 1, 60 | M4"07 (45 /8B | 8 1, 200
4 | FO1-004 | GLOB-08-100-M04 1,100 | M4*0.7 (45 |8 | 8 1, 300
5 | FO1-005 | GLOB-08-120-M04 1120 M4*0.7 (45 8 | 8 1, 420
6 | FO1-006 | GLOB-10-150-M04-DT60* | 2 | 150 | M4*0.7 |45 10|78 |60 | 1° 2,000
7 | FO1-007 | GL10-10-075-M05 1175 | M5*0.8 | 5.5 (10| 10 1. 250
8 | FO1-008 | GL10-10-100-M05 1,100  M&*0.8 | 6.5 |10 10 1,300
9 | FO1-008 | GL10-10-150-M05 1180 | M5'0.8 | 5.5 10| 10 1,600
10| FO1-010 | GL10-12-150-M05-DT60* | 2 | 150 M5*0.8 |55 (12|98 | 60 | 1° 2, 350
11 | FO1-011 | GL10-20-300-M05-DT135* | 2 | 300 | M5*0.8 | 5.5 |20 | 9.8 | 135)|2.15° 11,500
12| FO1-012 | GL12-12-075-M06 1178 | M8™.0 |65 12| 12 1, 450
13| F01-013 | GL12-12-100-M08 1,100  M6*1.0 |65 12| 12 1, 450
14 | F01-014 | GL12-12-150-M06 1,150  M6*1.0 6.5 12| 12 1, §00
16| FO1-015 | GL12-12-200-M06 1200 | MB*1.0 |65 12| 12 2, 600
16 | FO1-016 | GL12-18-150-M08-DT70* | 2 | 150 | M6*1.0 | 6.5 |18 |11.8 | 70 |1.65° 3, §30
17 | F01-017 | GL12-16-200-M06-DT90* | 2 | 200 | M6*1.0 | 6.5 |16 |11.8| 90 | 1.3° 4, 530
18 | FO1-018 | GL12-16-250-M06-DT115 | 2 | 2560 | M6"1.0 | 6.5 |16|11.8 |115| 1° 6, 200
19 | FO1-019 | GL12-20-300-M06-DT135* | 2 | 300 | M6*1.0 | 65 |20 |11.8 | 1356 | 1.7" (1. 500
20| F01-020 | GL16-16-100-M08 1,100  M8*1.25 | 8.5 |[16| 186 2. 280
21| F01-021 | GL16-16-150-M08 1150 M8*1.25 85 |16 16 3, 000
22| F01-022 | GL18-18-200-M08 1200 | M8*1.25 | 8.5 |168| 16 3. 700
23 | F01-023 | GL16-16-250-M08 1250 M8*1.25 8.5 |16 16 4, 600
24| F01-024 | GL16-20-200-M08-DT90* | 2 | 200 | M8*1.25 | 8.5 |20 |15.5| 90 | 1.6° 1. 100
25| F01-025 | GL16-20-250-M08-DT1156* | 2 | 250 | M8*1.25 | 8.5 |20 |15.5 | 115 |1.25" . 300
26 | F01-026 | GL16-20-300-M08-DT135%| 2 | 300 M8*1.25 | 8.5 (20155 135 1.1"* 1, 800
27| F01-027 | GL20-20-100-M10 1100 | M10*1.5 |10.5/20 | 20 3, 000
28 | F01-028 | GL20-20-150-M10 1150  M10*.5 /10520 20 4, 300
29| F01-029 | GL20-20-200-M10 1200 M10*.5 |10.5/20 | 20 5, 450
30 | F01-030 | GL20-20-250-M10 1| 250  M10*1.5 [10.5/20 | 20 6, 600
31| F01-031 | GL20-20-300-M10 1300 M10.5 |10.5/20 20 8, 100
32| F01-032 | GL20-20-400-M10 1400 M10*.5 |10.5/20 | 20 12, 650
33| F01-033 | GL20-25-200-M10-DTO0* | 2 | 200 | M10*1.5 |10.5|25|19.8| 90 | 1.6° 10, 600
34 | FO1-034 | GL20-25-250-M10-DT115* | 2 | 250  M10*1.5 (10.5/25)/19.8 | 115 |1.25° 1,300
35| FD1-035 | GL20-25-300-M10-DT135* | 2 | 300 | M10*1.5 |10.5|25 |19.8 |135| 1.1° 1, 600

PAGE 94



U Sy PP
it B

www.chllyang.com.tw

BRAT

7
36 | FD1-036 | GL25-25-100-M12 1| 100 |M12*1.75(12.5|25| 25 4, 300
37 | F01-037 | GL25-25-150-M12 1150 |M12*1.75|12.5|25 | 25 6, 000
38 | FO1-038 | GL25-25-200-M12 1200 M12*1.75|125|25 | 25 7. 850
39| F01-039 | GL25-25-250-M12 1| 250 M12*1.75|12.5|25 | 25 9. 600
40| FO1-040 | GL25-25-300-M12 1 ]300 M12*1.75|12.5|25 | 26 11, 600
41| FO1-041 | GL25-25-350-M12 1350 M12*1.75/125|25| 25 14, 200
42 | F01-042 | GL25-32-200-M12-DT90* | 2 | 200 M12*1.76|125|32 |245| 90 | 2.3° 16, 500
43 | FO1-043 | GL25-32-250-M12-DT115* | 2 | 250 M12*1.75|12.5|32 |24.5 | 115 |1.75" 20, 800
44 | FO1-044 | (GL.25-32-300-M12-DT135* | 2 | 300 |[M12*1.75|12.5/32 | 24.5 |135 | 1.5° 25, 000
45| F0O1-045 | GL32-32-150-M16 1150 | M16*2.0 | 17 |32 | 32 9. %00
46 | FO1-046 | GL32-32-200-M16 1200 M16%°20 | 17 |32 32 12, 600
47 | FO1-047 | GL32-32-250-M16 1250  M18*2.0 | 17 |32 32 16, 350
48| F01-048 | GL32-32-300-M16 1 ]300 | M1€*2.0 | 17 |32 | 32 18, 450
49 | FO1-049 | GL32-32-400-M16 1400 M18%*20 17 |32 32 23, 400
50 | F01-050 | GL42-42-250-M20" 1 |250  M20*25 | 21 (42| 42 i1, 080
51| F01-051 | GL42-42-300-M20* 11300 | M20*2.5 | 21 |42 | 42 lut, 080
52 | F01-052 | GL42-42-400-M20* 1400 M20%25 | 21 42| 42 b4, 000
53| F01-053 | GL42-42-500-M20" 1500 | M20*25 | 21 |42 | 42 68. 000

PAGE 895



www.chllyvang.com._tw

BRAT

MR/ e/ BRRs /B

M aenl DR

e e — e

_
1 | F02-001 | HC4-08-C08-100L 60 8 | 8 1 13,000
2 | Fo2-002 | HC4-10-C10-100L 120 10 | 10 1 (3,500
3 | FO2-008 | HC4-10-C10-150L 80 10 | 10 1 [ 4.000
4 | FO2-004 | HC4-08-C10-150L-DT40" 100 8 | 10 | 15 | 2
5 | F02-005 | HC4-10-C12-150L-DT60 120 | 60 | 12| 10 | 1* | 2 |4 800
6 | F02-006 | HC4-10-C16-200L-DT100 150 | 100 | 16| 10 | 18" | 2 |7, 800
7 | F02-007 | HCB-12-C12-100L 75 12 | 12 1 4,000
8 | Fo2-008 | HC6-12-C12-150L 100 12 | 12 1 14,500
9 | F02-008 | HC8-12.8-C16-150L-DT60 150 | 60 | 16 | 128 | 1.7° | 2 |6, 500
10| FO2-010 | HCB-12.8-C16-200L-DT80 150 | 90 | 16 | 128 | 12° | 2 |7,800
11| F02:011 | HC6-12.8-C20-250L-DT110 300 | 10 | 20 128 | 19° | 2 |13, 200
12| F02-012 | HUC10-20-C20-150L 75 20 | 20 1110, 600
13| F02-013 | HUC10-20-C20-200L 100 20 | 20 1 112, 200
14| F02-014 | HUC10-23-C25-250L-DT120 | 150 | 120 | 25 | 23 | 05" | 2 |17.100
15| F02-015 | HUC10-23-C25-300L-DT120 | 200 | 120 | 25 | 23 | 05" | 2 |20, 500

——le——— | il R i
E F01-001 HC4-3 HC4 31 7 p3r 4 2
2 | FO1-002 HC44 HC4 31 7 p3:4 2
3 | FO1-003 HC6-3 HCE 36 9.6 03+44+8 2
4 | F01-004 HCe4 HCB 36 9.6 03:4:6 2
5 | FO1-005 HCE-6 Heb 38 9.6 03:4:86 2
6 | FO1-006 HUC10-3* | HUC10 | 66.5 15 p324,6:8:10 1
7 | FO1-007 HUC104* | HUC10 | 58.5 16 0p3:4-,6+8510 1
8 | F01-008 HUC10-6 HUC10 | §6.5 15 p32+4,6:8:10 1
9 | FO1-009 HUC10-8 HUC10 | $6.5 15 p324:6:8910 1
10| FO1-010 HUC10-10 | HUC10 | 56.5 156 p3+4,8+8»10 1

HDCE-12-150L \[ T I—J

HDC4-08-100L H |

HDC4-10-150L S
HDC4-12-1500L " '
HDC4-12-200L LETE e

HDC6-16-150L
HDCGB-16-200L
HDCE-20-250L

PAGE 88



www.chllyang.com.tw

BRAH

MR/ S/ BREs 1 B

R

oy, £
I
o

vf.ﬁ"- e "

" | e
< -B
..:..‘“5 3 =
) &

@ d,

1 | E52-001 | XD07-101-D10-150W 11 | E52-011 | XD11-172-D16-200W | 1, 700
2 | E52-002 | XD07-122-D10-085W | [, 400 | | 12 | E52-012 | XD11-182-D16-120W

3 | E52-003 | XD0O7-142-D12-120W 13 | E52-013 | XD11-203-D20-120W | 4, 350
4 | E52-004 | XD07-163-D16-120W | |, 750 | | 14 | E52-014 | XD11-213-D20-200T | |, 650
5 | E52-005 | XD07-174-D16-150L 16 | E52-015 | XD11-254-D25-130W | 1, 8§00
6 | E52-008 | XD07-215-D20-150L 16 | E52-018 | XD11-264-D25-150W | |, 450
7 | E52-007 | XD07-266-825-150L 17 | E52-017 | XD11-264-D25-200W | 2. 050
8 | E52-008 | XD07-338-S32-150L 18 | E52-018 | XD11-325-D32-130W | 2, 000
9 | E52-009 | XD11-162-D16-120L | 1, 200 | 19 | E52-019 | XD11-335-D32-200T | 2, 650
10 | E52-010 | XD11-172-D16-150T | 1, 300

A b3

E52-030 XD07-111-M05
E52-031 XD07-132-M06
E52-032 XD07-174-M08
E52-033 XD07-215-M10
E52-034 XD07-266-M12

E52-035 XD07-338-M16
E52-036 XD11-172-M08
ES52-037 XD11-213-M10
E52-038 XD11-284-M12
E52-039 XD11-335-M18

=t o ~N® b
c m

PAGE 102



ang.com.tw

AT

/ 5

E52-051 | XD11-404-25.4

E52-052 | XD11-505-25.4 2, 150
E52-053 | XD11-636-254 |2, 600
E52-054 | XD11-806-25.4 3. 100
E52-055 | XD11-1008-31.75 | 4, 000

W=

e =
olo |
oo [0 |
oo @ |
T o .
@ i o
B e wg . ga, BS8,o (88
9§EN~gs§aﬁﬁéggm§§§§§ﬁa e
Egg;ﬁ EEEU%EEEEEEUEHP gg [mm] [mm] [mm] [mm] [mm] [{mm]
XDKT 070304FR-F20 o [T 11711 ! | [T490 780 818 15 D040 250
XDKT 070308FR-F20 [ ] | | 480 780 318 171 080 250
XDKT 11T302FR-F20 ® [l I | 680 10,60 380 20 020 280
= XDKT 11T304FR-F20 ° 680 1060 3B0 18 040 280
& XDKT 11T308FR-F20 ° [ ] I 680 1050 3,80 14 080 260
XDKT 11T320FR-F20 Ll | 680 1060 380 17 200 280
XDKT 11T325FR—F20 o i [ 580 1060 380 12 250 280
XDKT 150508FR-F20 e | 930 1480 556 16 080 450
XDKT 070304ER-F40 R | [ 7] efe ‘ 490 780 338 12 D040 250
XDKT 07030BER-F40 [ ] | oe 490 7,80 318 0B 080 250
XDKT 11T304ER-F40 | o0 680 1080 380 17 D040 280
XDKT 11T308ER-F40 ‘ oo w 680 1060 3.80 14 080 280
XDKT 11T312ER-F40 ‘ ! || oo | 680 1060 380 11 1,20 280
XDKT 11T318ER-F40 | ele \ 680 1060 380 08 160 280
= XDKT 11T320ER-F40 | | e | | 680 1060 380 03 200 280
b XDKT 11T325ER-F40 _ | oo ‘ 580 1060 380 16 250 28D
' XDKT 11T332ER-F40 i o0 L] 80 1080 380 15 320 280
XDKT 11T340ER-F40 o0 | BB0 10,60 380 400 2,80
| XDKT 150508ER-F40 F \ | | | i | | 830 1480 556 168 080 450
XDKT 150532ER-F40 | | 930 1480 65,56 19 320 4,50
XDKT 150540ER-F40 ; o0 _ [ | |930 1480 586 12 4po0 450
XDKT 200708ER-FA0 o 1250 1880 693 28 080 550
| XDKT 200732ER-F40 o0 | || | |1250 1880 €82 08 320 550
XDKT 070304SR-F50 ° o ° (490 780 318 12 040 250
XDKT 0703085R-F50 o ® || e ||| |40 780 318 10 080 250
XDKT 11T304SR-F50 e oo | 680 1060 380 18 040 280
- . | XDKT 11T3085R-F50 | e eos | 00 | 680 1060 380 14 080 280
& | XDKT 1172128R-F50 ee 680 1060 380 10 120 280
' | XDKT 117320SR-F50 e (oo | o0 ! | | 680 1060 380 21 200 280
XDKT 11T325SR_F50 s o 680 1060 3,80 16 250 280
| XDKT 11T3328R-F50 | ee | | | 680 1080 380 15 320 280
XDKT 1505085R-F50 e @ & | | 930 1480 556 1,6 080 450
| XDKT 0703045R-M50 e o [ @ [ [ | 49 780 318 10 040 250
XDKT 0703085R-M50 e e | e I 490 7,80 318 10 0BO 250
XDKT 11T304SR-MS50 [ e o | | 680 1080 380 18 040 280
| XDKT 11T308SR-MS0 L] e o0 L] | 680 10.60 380 14 080 280
g é XDKT 11T312SR-Ms0 . | | |eso 1080 380 10 120 280
= XDKT 11T3205R-M50 e o0 [ 680 1060 380 21 200 280
| XDKT 11T325SR-MS50 o (o® | | 680 1080 380 16 250 2380
' XDKT 11T3325R-M50 e 680 1080 380 15 820 2380
XDKT 150508SR-M50 o | oo o | ° 930 1480 55 16 080 450
XDKT 1505205R-M50 | ® | 930 1480 556 16 200 450
| L ]
0 w |we |ns wlen ") d ! s h r dy
Bl | BeSSalffs §F8ecogB8
gEEgﬁ@;&ﬁzaggaﬁtgasggg
PRE6E666660066G60EEGEG

PAGE 103



www.chllyang.com.tw

BRAT

MR/ ek / IRRE /B

E54-041 XL09-505-22 2,000
ES4-042 | XL09-505-25.4 2,000
E54-043 | XL09-636-22

E54-044 | XL09-636-25.4

@d E54-045 | XL09-807-27
@ dahs_ E54-046 | XL09-807-25.4
7 . E54-047 | XL0S-1008-32

E54-048 XL09-1008-31.75
E54-049 XL12-504-26.4
E54-050 XL12-635-25.4
E54-051 XL12-807-25.4

jsmmﬂmmhum—nm

FEx oW BB AN
1 | E54-021 XL08-172-M08 1,300
2 | E54-022 | XLO8-213-M10 1, 550
3 | E54-023 XL06-264-M12 2, 150
4 | E54-024 | XL06-335-M16 2, 550
5 | E54-025 | XL09-263-M12 1,700
6 | E54-026 | XL09-353-M16 2, 350

E54-001 | XL06-162-D16-150W | |, 400

E54-002 | XL06-203-D20-150W | {. 400

E54-003 | XL06-254-D25-150W
E54-004 | XL06-325-D32-150W
ES4-005 | XL09-253-D25-130W | 1, 650
E54-006 | XL09-263-D25-150W | 2, 100
E54-007 | XL09-323-D32-130W | |. 800
E54-008 | XL09-404-D32-150W | |, 500

Q"-JGUIAGN—'-E

PAGE 104



E53-021

1g.com.tw

‘8D08-405-16

BRAT

W /B /

E53-022

SD09-506-22

2, 250

E53-023

8D09-506-25.4

| 2,250

ES3-024

5D09-837-22

E53-025

2,350

E53-026

§D09-806-25.4

3. 100

5D09-809-22

E53-028

SD09-809-25.4

3. 450

E53-029 |

£D09-10010-32

4,000

E53-030

SD08-10010-31.75

4, 450

E53-031 |

5D09-12508-38.1

| 5,500

mi2S | No|o &N -

E53-032

8D08-16012-50.8

10, 800

| SD0s253-25D.130W

E53-001

EET Y

E53-002

SD08-263-D25-120W

E53-003

$D09-263-D25-150W

1,700

E53-004

S5D09-263-D25-200W

E53-005

SD08-324-D32-130W

1,800

E53-006

SD058-405-D32-150w

1,900

PAGE 105



www._chllyang.com. tw

BRAH )

MR/ W /R /R 4

W08 "’ @‘

P50 | O63 | O66 | @80 @100
- - @d s
Zhn R ZhdZ=
Bl ongd J/z .,_\\J
1 AS J i EAX
L @D . I @D 2]
_oneeoum

1,650 RM-5R504-220 | 50 |22.0|50| 11| 4 | RD.10T3 |MS009B| TF15 |MCI541 | MS3508A| TF15
1, 650| RM-5R504-25.4 254 |50/13| 4
1,700| RM-5R635254 | 63 |254|50|13| 5
1, 700] Rm5Re06-254 | 80 | 254 |50 13| 8
1,650 RMBR504220 | 50 (220 |50| 11| 4 | RD.1204 MSI01A| TF15 |MC35141| MS3500A| TF15
1, 650| RM-6R504-25.4 254 50|13 | 4
1,900 RM-BRB35254 | 63 |254|50(13| 5
2, 000 RM-6R635-27.0 27.0
|.800| RM6REE5254 | 66 | 254 | 50| 13| &
2. 550| RM-6R806-254 | 80 | 254 |50 (13| 8
2 550/ RM-BR805-27.0 270(50(13| 5
9, 550/ RM-6R806-27.0 270(50(13| 6
[, 650| RM-8RB33-254 | 63 | 254 (50| 13| 3 | RD.1604 |MSS01A| TF20 |MCE0-147 MS5011A| TF20
|, 650| RM-8R834-25.4 254 |50 (13| 4
92,000 RM-8R835-25.4 254 (50|13 5
2. 000| RM-8R635-27.0 270(50|13| 5
9. 250| RM-BRE664-254 | 66 | 254 | 50(13| 4
2, 000| RM-8R665-25.4 254 |50 (13| 5
1, 800, RM-8R664-27.0 270(50|13| 4
92, 000| RM-8R665-27.0 270(50|13| 5
9. 000| RM-BR805254 | 80 |254 |55|13| 5
2, 000| RM-8R805-27.0 270(55|13| 5
2. 700, RM-8R806-27.0 270(55/13| 6
9 700, RM-8R1006-31.75| 100 (31.75/ 60 |45 | &
1, 650 RPM-6R504-220 | 50 220 |50 | 11| 4 | RP.1204 MSI0MA| TF15 |MCI541| MS350A | TF15
1, 650] RPM-6R504-254 | 50 | 254 |50 |13 | 4
1, 800| RPM-6R635254 | 63 | 254 |50 |13 | 5
1,800 RPM-6RE65254 | 66 | 254 |50 | 13| 5
92,350 RPM-6R806-254 | 80 (254 | 55|13 | 6

PAGE 108



a2l = g . _ www.chllyang.com.tw

BRAT

BOR / Bl /R /B

EillE)=]

(REBWI ) | @mENL ] FENL

R

Dimensions,mm

|, 100| HARO8-162-MD14 | 16 |85 | 23 (M8 | 2 | RD.0B02 |MS3006B | TF9 - - -
|, 000| HARO8-172-MD14 | 17
1, 250 HAR08-202-MD18 | 20 |10.5| 30 |M10 MS3500A | MC35-141| TF15
[, 250| HAR08-212-MD18 | 21

[, 400| HAR10-252-MD23 | 25 |12.5| 35 |M12 RD.10T3 |M34008B | TF15 |MS3508A| MC35-141) TF15
1, 450 | HAR10-253-MD23
|, 400| HAR10-262-MD23 | 26
1. 300| HAR10-263-MD23
1. 750| HAR10-302-MD29 | 30 | 17
|, $50| HAR10-323-MD28 | 32 | 17

9. 000| HAR10-353-MD29 | 35

RD.10T3 |MS40098 | TF15 |MS3500A MC35-141 TF15

M16 RD.10T3 |MS4000B | TF15 |MS3500A| MC35141 TF15

M16

WINWN W N

&8

|, 350| RP103-202MD18 | 20 (10.5| 30 |M10| 2 | RP.1003 |MS4008A | TF15 - - -
[, 350| RP103-212-MD18 | 21
1, 500 RP103-252-MD23 | 25 |12.5| 35 (M12| 2 | RP.1003 |MS4008A | TF15 |MS3509A MC35-141 TF15

[, 500| RP103-262-MD23 | 26
2, 100| RPIO3-303-MD23 | 30 3
2. 100| RP103-353-MD29 | 35 | 17 | 43 |M16| 3 MS4011A

st =

RDMT0802MOTN | @ BO | 238 | 34

RDMT10T3MOTN | @ @ B= 100 | 397 | 45

RDMX1204MOTN N\ 'J "5 [ 120 | 476 | 45

RDMX1604MOTN | @ e | 8 160 | 476 | 55

RPMW1003MO @ . 100 | 318 | 45

RDMT1204MOSN ® (@ D 120 | 478 | 45
= Y=

PAGE 109



www.chllyang.com.tw

BRAT

BN / Bl /R /B

ZEYE]

(rEmT ) (mEmL ) (FEmnt)

al ;f'_ |
@

@d

1, 100K|__RD051-D082-S08-100 | 9 8 | 100 | 12 2 RD..0501.. MS2004A TF6
1, 200K RDOS1-D102-S10-100 | 10 | 10 | 100 | 18 2
1,100 | RDO51-D112-510-100 | 11 | 10 | 100 | 15 2
1,100 | RD051-D122-S512-100 | 12 | 12 | 100 | 22 2 MS2005A TF8
1,300 | RD051-D123-812-100 3
1, 100K|__RDO051-D132-512-100 | 13 | 12 | 100 | 18 2
1, 300K| _RD051-D133-512-100 3
1,700 RDO051-D164-816-150 | 16 | 16 | 150 | 30 4
1,900 RD051-D164-516-200 200

1,700 | RDO51-D174-S16-150 | 17 | 16 | 15 | 20 4
1,900 | RDOS1-D174-s16-200 200

1,350 | RDO7T-D122-512-120 | 12 | 12 | 120 | 35 2 RD..O7T1.. MS2206C TF?
1,600 | RDO7T-D122-516-120 16 | 120 | 35 2
1,100 | RDO72-D162-816-150 | 16 | 168 | 150 | 35 2 RD..0702.. MS2506B TF9
1,300 | RDO72-D182-518-200 200

1, 100 RDO72-D172-516-150 | 17 16 | 180 | 20 2
1,300 | RDO72-D172-516-200 200

1,450 | RDO72-D203-520-150 | 20 | 20 | 150 | 35 3
1,650 | RDO72-D203-S20-200 200

1,450 | RDO72-D213-820-150 | 21 | 20 | 150 | 25 3
1,650 | RDO72-D213-520-200 200

1,800 | RDO72-D264-825-150 | 26 | 25 | 180 | 40 4
2. 010 | RD072-D254-825-200 200

2. 950 | RDO72-D254-525-250 250

2. 450 | RDO72-D254-825-300 300

2,010 | RDO72-D255-525-150 | 25 | 25 | 150 | 40 5
2,250 | RDO72-D255-525-200 200

2,450 | RDO72-D255-§25-250 250

2, 650 | RD072-D255-525-300 300

1,700 | RDO72-D284-525-150 | 26 | 25 | 150 | 25 4
1,900 | RDO72-D264-S25-200 200

2.250 | RDO72-D264-525-250 250

2, 450 | RDO72-D264-525-300 300

1,800 | RDO72-D265-825150 | 26 | 25 | 150 | 25 5
2, 250 | RDO72-D265-525-200 200

2. 450 | RDO72-D265-525-250 250

2,650 RD072-D265-525-300 300

2,200 RDO72-D355832-150 | 35 | 32 | 150 | 30 5
2. 250 | RDO72-D355-532-200 200

2, 850 | RDO72-D355-832-250 250

3, 250| RDO72-D355-§32-300 300

2 400 RDO72-D356-$32-150 | 35 | 32 | 150 | 30 6
2. 750 | RDO72-D356-532-200 200

3, 050 L RDO72-D356-532-250 250

PAGE 111



www.chllyang.com.tw

BRA

MR/ S/ IREE /B

5 o\
4

MDEE0=F

1,200 RD103-D202-S20-150 20 | 20 (150 | 40 | 2 |RD..1003..| MS3507A - - TF15
1, 400 RD103-D202-520-200 200
1,200 RD103-D212-520-150 21|20 (150 | 25 | 2
1. 400 RD103-D212-520-200 200
1,500 RD103-D253-525-150 25|25 (150 | 40 | 3
1,700 RD103-D253-525-200 200
1, $00) RD103-D253-525-250 250
1,500 RD103-D263-525-150 26 | 256 (150 | 25 | 3
1, 700| RD103-D263-525-200 200
1, 900] RD103-D263-525-250 250
2. 100| RD103-D263-525-300 300
1,700 RD103D303-525-150 30 |25 150 | 25 | 3 |RD..1003..| MS3505B - TF15
1, 900 RD103-D303-525-200 200
2, 100 RD103-D303-525-250 250
1, 800 RD103-D323-532-150 32 |32 150 | 40 | 3 |RD..1003..| MS3508B | MC35141 | MS3508A TF15
2,000 RD103-D323-532-200 200
2, 400 RD103-D323-532-250 250
2, 400 RD103-D323-532-300 300
1, 750 RD103-D353-832-150 35|32 150 | 40 | 3 |RD.1003..| MS3508B | MC35141 | MS3508A  TF15
1, 800 RD103-D353-§32-200 200
2, 300 RD103-D353-832-250 250
2,500 RD103-D353-532-300 300
1, 700, RD103-D354-832-1580 35 | 32 (150 | 40 | 4 | RD..1003..| MS3509B | MC35141 | MS3509A  TF15
2,300 RD103-D354-532-200 200
2. 400| RD103-D354-832-250 250
2,700, RD103-D354-532-300 300
RDHW 0501 MO EN-81 @ o 5.0 1.50
RDHWO7T1 MOEN-91| @ N a 70 1.99
RDHW 0702 MO EN-91 ! \ ’_../J 70 238
RDMW 0702 MOEN91| @
RDMW 0702 MO EN L] o
RDMW 1003 MO EN @ 'L 10.0 3.18
15

PAGE 112




www.chllyang.com.tw

BRAT

BN / B /R /B

1,000 RDO51-D092-MDO8 9 (45|15 M4 | 2 | RD..C501..| MS2004A - - T
1,000, RDO51-D102-MD10 10 |55| 16 M5 | 2

1,000 RDO51-D112-MD10 11 |55 18 M5 | 2

1,000 RDOD51-D122-MD11 12 |65| 18 M8 | 2 MS2005A - - T8
1,100  RDO51-D123-MD11 3

1,000, RDO51-D132-MD11 13 |65 | 18 M6 | 2

1. 100, RD0O51-D133-MD11 3

1,400 RDO51-D164-MD14 16 |85 | 23 M8 | 4

1,000 RDO51-D174-MD14 17 |85 | 23 M3 | 4

1,400, RDO7T-D122-MD14 12 |[85| 23 |[M8| 2 | RD..O7T1..| M82206C - - iz
1,080, RDO72-D182-MD14 16 |85 | 23 |M8 | 2 | RD..0O702..| M52506B - - TR
1,080 RDO72-D163-MD14 3

1,000 RDO72-D172-MD14 17 |85 | 23 M8 | 2

1,180 RDO72-D173-MD14 3

1, 250/ RD072-D203-MD18 20 (105) 30 M10| 3

1,100 RDO72-D212-MD18 21 |10.5| 30 M10| 2

1,100  RDO72-D213-MD18 3

1, 4500 RDO72-D254-MD23 25 |125| 35 M12| 4

1,700 RDO72-D255-MD23 5

1, 450 RDO72-D264-MD23 26 |125| 35 M12| 4

1,700 RDO72-D265-MD23 5

1,900, RDO72-D355-MD29 35 (17 | 43 |[M16| &

2,100 RDO72-D356-MD29 6

1,000 RD103-D202-MD18 20 |10.5| 30 M10| 2 | RD..1003..| MS3507A - - TF15
1,000 RD103-D212-MD18 21

1,250 RD103-D253-MD23 25 |125| 35 M12| 3

1, 250 RD103-D263-MD23 26

1,750, RD103-D303-MD23 30 |125| 35 M12| 3

1,750, RD103-D323-MD28 32 |17 | 43 |[M16] 3 | RD..1003..| MS3507A | MC35141 | MS3508A| TF15
1,750 RD103-D353-MD29 35 | 17 | 43 M16| 3 | RD..1003..| M53507A | MC35141 | MS3509A| TF15
2,050 RD103-D354-MD28 4

Dimensions,mm

1,750, RD103-D504-22.0 50 |(220| 40 | 11| 4 | RD..1003..| MS3509B | MC35141 | MS3500A| TF15
2,050, RD103-D505-22.0 50 5

2,050, RD103-D504-25.4 50 (254 40 | 11| 4

2,050 RD103-D505-25.4 5

2.200| RD103-D635-25.4 63 (254 50 13| 5

2,500, RD103-DB38-25.4 83 8

PAGE 113



www.chllyang.com.tw

BRAT 4\ )
W/ 550 / 1995 / N\ ?‘
._‘{%\ “&"

EAiREt R il

L1

Dimensions, mm :

. 000K|_RT07-D061-S10-100 | 6 | 10 | 100 | 30
. 000K _RT07-D081-S10-100 | 8 | 10 | 100 30
100K|__RTO7-D102-S10-150 | 10 | 10 | 150 | 25
100K|__RTO7-D112-8L0-150 | 11 | 10 | 150 | 20
100K|_RTO7-D122-512-150 | 12 | 12 | 150 | 30
100K_RT07-D132-S12-150 | 13 | 12 | 150 | 20
' 800K|__RTO7-D163-516-150 | 16 | 16 | 150 | 30

RT 07 02 04R81| MS2004A TF6

MS2005A TF6

I

|

1

1,

i

l,

I

2. 100K|_RT07-D163-816-200 200

1, 800k|__ RTO7-D173-S16-150 17 | 16 | 150 | 25
1,550 RT07-D173-516-200 200

1, 800K RTO7-D204-S20-150 20 | 20 | 150 | 30
2, 200K| __ RT07-D204-820-200 200
1,100 RT10-D162-516-150 16 | 16 | 150 | 30 RT 10 03.... MS2506B TF9
1,350 | RT10-D162-516-200 200

1, 650K| __RT10-D172-816-150 17 | 16 [ 150 | 25
1, 350 RT10-D172-S16-200 200
1,400 | RT10-D202-520-150 20 | 20 | 150 30
1, 600 RT10-D202-520-200 200

1. 400 RT10-D203-520-150 20 [ 150 | 30
1. 600 |__RT10-D203-520-200 200

1. 400 | RT10D212-S20-150 21 | 20 150 | 25
1.550 | RT10-D212-520-200 200

1. 400 |__RT10-D213-520-150 20 [ 150 | 25
2, 200|__RT10-D213-520-200 200
1,500 | RT10-D252-525-150 25 | 25 | 150 | 40
1,650 | RT10-D252-825-200 200
1,500 | RT10-D253-§25-150 25 | 150 | 40
1,650 | RT10-D253-S25-200 200
1,450 | RT10-D262-S25-150 26 | 25 150 | 25
2, 600K RT10-D262-525-200 200
1,500 | RT10-D263-S25-150 25 | 160 | 25
2, 700K RT10-D263-525-200 200

2,000 | RT10-D324-532-150 32
2,250 | RT10D324-532-200
2,250 | RT10-D325-532-150
2,250 | RT10-D325-832-200
1,800 RT10-D334-832-150 33 150 | 35
2,250 RT10D334-§32-200 200

32 | 150 | 40
32
32
2, 250|  RT10-D335-532-150 32 | 160 | 35
32
32

200
160 | 40
200

2, 500 RT10-D335-532-200 200
2,000 RT10-D354 832-150 35 160 | 35
2, 250 RT10-D354-832-200 200
2, 250  RT10-D355-8532-150 160 | 35
2, 500 __RT10-D355-§32-200 200

g & | Ao B W N W RN W N W N N N B ] GFNN NN |

PAGE 114



Dimensions,mm

it

050| RTO7-D102-MD10 | 10 | . | ' RT 07 02 04R81
000, RTO7-D112-MD10 | 11 | >° |18 |[M5| 2
000]_RTO7-D122-MD11__| 12
000[_RTO7-D132:MD11 | 13 65|20 | M8 | 2
100 R - - 16
200 RTO7-Di73MD14 |17 | 55 |28 | M8 | 3
400]_RTO7-D204MD18 | 20
100 RTO7-D214MD18 | 21 105| 30 |Mi0| 4
050 _RT10-D162MDM4 | 16 o | 29 | ma | 2 RT 10 03... MS25068 TFo
000 RT10-D172MD14 | 17 | ©
100]_RT10-D202-MD18 -
100_RT10-D203-MD18 20 |105| 30 \M10|—3
100] RT10—D213-MD18 21 1105 30 |M10|—3
' 125| 35 |M12| 3

17 | 43 |M16—¢

17 | 43 |Mis[—5

17 | 43 |M18—¢

Dimensions,mm

; d

'-_'L

M

" RT070204 R-81 P

i _ @ ®
RT100304 R-81
RT100304 R-31

RT100308 R-31 ®

43 | 238 | 264 | 15 | 1.3
635 | 34 | 394 | 21 | 18
635 | 34 | 304 | 21 | 1.8
635| 34 | 394 | 21 | 1.8

PAGE 115



1z

1 B

16

Dimensions,mm

d
8.5

17

Rl

25

M

M8

APM203-MD18

20

10.5

20

21

30

M10

APM253-MD23 _

25

12.5

APMB323-MD29

26

35

M12

17

APM333-MD29

43

M16

APM353-MD29

17

43

M16

O | 0| b aw oo

AOMT-1236..

TF9

Dimensions,mm

2] 8

AOMT123604PEER-M

12

68 3.6

4.0

PAGE 117



www.chllyang.com.tw

ERAH @g\?\ N

MR/ e/ BeEE /B

N\
Bz ElEE

@d

1,400 BAP3-15.5-S§16-100 (155 16 [100 | 28 | 2 APMT1135.... MS2506E TF8
I, 10| BAP3-162-816-100 | (. | 4o [100] o5 | ,
1,050 BAP3-162-51B-150 150
1. 050 BAPSAT2SIE-160 | . | 4o 150 [ o0 | 5
I, 200 BAP3-172-816-200 200
1,000 BAP3-182-520-100 100
1,050, BAP3-182-520-150 | 1© | 20 450 8 | 2
1. 000|__BAP3-202-820-100 100
1,050 BAP3-202-520-150 | .0 | 5o [150| 5o | 2
1, 200 BAP3-202-520-200 200
I, 250  BAP3-203-S20-150 150 3
1, 400 _BAP3-203-S20-200 200
1,050 BAP3-212-520-150 150 »
1. 200 BAP3-212-520-200 | o, 4 200 | o
1, 250  BAP3-213-820-150 150 3
1, 400|_BAP3-213-520-200 200
1,400 BAP3-243-S20-125 | 24 | 25 [125] 35| 3
I. 400| _BAP3-253-825-150 150 3
1. 500 _BAP3-253-826-200 25 | 25 200 35
1. 700, BAP3254 525150 150 4
I, 750| _BAP3-253-525200 200
I. 400] BAP3-263-825-150 150 4
1,500 BAP3-263-525-200 | 25 | 25 | 200 | 35
1,700 _BAP3-264-525-150 150 4
1, 750 BAP3-264-525-200 200
1,750|  BAP3-324-832-150 150
1§50 BAP3-324-S32-200

32 32 |200| 35 | 4
1,100 | BAP4-252-§25-125 125 APMT1604.... MS4009A Tf5
1.200] BAP4-252-825150 | 26 | 25 [150 | 40 | 2
1,300 BAP4-252-§25-200 200
I, 600| _BAP4-322-532-150 22 M0 45| » MS4011A
1,800 BAP4-322-532-200 | ,, 200
1,600 BAP4-323-532-150 a2 10| 45| 3
1, 800 _BAP4-323-532-200 200

PAGE 118



ng.com.tw

“ERAS

muawmxug

=]

( BT ) (®@EmT ) (FEmT

FI1G-2

@ 100
pires.,. . Be

Dimensions,mm
d

e

17 | 43 |M16

O L (0 L L (0 B O L N R M

Dimensions,mm

D -
50 7 APMT1135.... MS2508E TF8
80 220 60 | M 4 APMT1604.... | MS4011A TF15
. : 264 | 50 | 13
2 000 BAP4-653-254 63 |254| 50 | 13
A 66
80

220 40 | 1

9 400 BAP4-806-254

3,450 BAP4-1008-31.75 100 |31.75| 50 | 45
4, 600 BAP4-1256-38.1 125 (381 | 50 | 80

Dimensions,mm

IR B s |t ¢]
11 |635| 35 (285 | 08
16.5 |9.525| 4.76 | 4.7

APMT1135PDER-H2 | @ |
APMT1604PDER-H2 &

APMT1135PDER-M2 ® * 11 |635| 35 [285| 08
 APMT1B804PDER-M2 ™ F 16.5 |0.525| 4.76 | 4.4
APMT1135PDFR-G2 o 11 (635| 35 |285| 08
APMT1604PDFR-G2 & 16.5 (9.525 4.76 | 4.4

PAGE 119



www.chllyang.com.tw

BRAT

MR /B / IREE 1 B

ERiREtDE

&

FEINT

=

720 C12-8812-150 12 |12 [150] 25 | 1 APET-120204 MS3507A TF15
720 C12-5513-150 13 (12 [150[ 20 | 1
720 C16-5816-150 150
850 C16.5516-200 18 | 16 g | %9 |
C16-5517-150 150
%%8 C16-8817-200 7|18 05| 22| T
1. 100 C20-S820-150 150
1, 100 C20-8820-200 20 |20 (200 35 | 2
1. 200 C20-S820-250 250
850 C20-5521-150 150
1,010 C20-5521-200 200
1,350 C20-5521-250 21 | 20 (250 | 30 | 2
S10 C25-5525-150 150 ADET 160308 MS4009A TF15
1, 100 C25-8525-200 25 | 25 (200 40 | 2
1. 250 C25-5825-250 250
G10 C25-8526-150 150
1,100 C25-5526-200 26 |25 |200| 30 | 2
1, 250 C25-5526-250 250
[, $50K C32-55322-150 150
1, 450 C32-S5322-200 32 |32 (20045 | 2
1,700 C32-S5322-250 250
1. 260 C32-5832-150 150
1, 450 C32-5832-200 200
| 600  C32-5532.250 32 |\ 32 55145 | 3
[, 900 C32-5832-300 300
[, 450 C32-§58332-200 200
1,600 C32-85332-250 33 |32 [250] 30 | 2
[, 600 C32-88332-300 300
1, 450 C32-8833-200 200
1. 600 C32-8833-250 250
1,900 C32-5533-300 33 |32 |300| 30 | 3
X C32-8833-350 350
X C32-5533 400 400

PAGE 120



FI1G-

@40
@50
a63
DEB

a8) )

wﬁ/ B35/ B

-
|

7

@&

( BmT

2

i

BE T

(FE&EIT

}EH

1,000
1, 050

[, 400
1. 400
1, 00
1,500

1, 180
1,100
1,700
1,600

1,700

2,200
1.700¢

1, 950

2. 600
8. 500

FIG-A ftem code Dimensions,mm ootk

UEX161-MD14 16 (85| 28 | MB | 1 APET-120204 | MS3507A TF15
UEX171-MD14 [ 17 |85 | 28 | M8 | 1

UEX172-MD14 |17 |85 | 28 M8 | 2

UEX202-MD18 20 |105| 30 M10| 2

UEX212-MD18 21

UEX2535-MD23 25 [125] 35 M12| 3

UEX283S-MD23 26

UEX3245-MD29 32 |17 | 43 M16| 4

UEX252-MD23 25 |[125| 35 M12| 2 ADET160308 | MS40D0A TF15
UEX262-MD23 2%

UEX323-MD29 32 | 17 | 43 |[M16| 3

UEX333-MD23 33

N Dimensions,mm y n

FIG-2 ltem code &R : o
UEX403-22.0 |40 | 22 | 40 1N 3 ADET160308 | MS4009A TF15
UEX504-22.0 50 |22 [50 | 11| 4

UEX504-25.4 50 254 50 | 13 | 4

UEX665-25.4 66 |254| 50 | 13| 5

UEX806-26.4 B0 (254 50 13| 6

UEX1007-25.4 100 [31.75| 650 | 45 | 7

APNT120204ER

APET120204ER

APET160304ER

127

Dimensions,mm

Bl
7.938

04

15.875

9.525

3.18| 04

PAGE 121




www.chllyang.com.tw _ ,-}\ 5
BEAT 0\
y/5 S

MR/ B / IRRE /B ; N
2 %
g\

M8 +7J§E
o

A
|

Y]

10 (130 | 25 | 1 | COMTOB0204 = MSZ506A] - |TF9| -

700K|_C10-DM10-130 | 10
700k|_C 11-150 [ 11 |10 [ 150 16
700K | C12-DM12:150 | 12 [ 12 [ 150 | 30 | 1 | CPMT080204Z = MSZ506A] - |TFa| -
J00K | —SlephIE1eg 13 12 19 20 CPMTO080204Z| CCMT080204 | MS2506A| MS2508A] TF9
925 — = -
9 i, -
L 099 —CioDMiz200 | 17 | 16 o001 25 | 2
900 20- 50 CPMT0B0204Z| CCMTO80204 |MIS3500A MS2508A T 15/ TFD
1. 050 C20-DM20-200 20 |20 (200 | 30 | 2
1. 200 250 250
G5 | C20-DM21-150 750
1. 150 C20-DM21-200 |21 (20 (200 | 25 | 2
1’200 C20-DM21-250 250
000 [ C25-DM25-150 150 CPMT120308Z| CPMTOO0308 |MS4009A MS4009A TF15| —
I 150 [C25-DM25-250 250
1,550 | C25-DM25-300 30
17100 [ C25-DM26-150 150
1,200 C25-DM26-200 |26 (25 [200 | 30 | 2
1,450 | C25-DM26-250 250
600 | C32-DM32-1 150 CPMT160408Z| CPMT120408 |MS5011A MSS0TIA|TF20| —
1700 [TCRDMAZZ00T] o5 | 55 2001 40 | 2
1. $00 CC%—DMSZ—E 50 %g
230 a2 DMaz150 150
1700 | e Mo B
[ 800 33 :
% 900 [ Ca2-DM3 83 32 5591%0 | 2
X | C32-DM33-350 35
X [C32.DM33-400 i

Dimensions,mm

1,000 AJU16-MD14 | 16 - .
1,000 _AJUT7-MD14 | 17 85|28 M8 | 2 |CPMT0B0204Z | CCMTO60204 | MS2506A | MS2506A | TF9

1,050  AJU20-MD18 | 20

1 050 AJU21-MD18 | 21 105| 32 M10| 2 |CPMT080204Z | CCMTO80204 | MS3509A | MS2506A (TF15/TF9
1,180 AJU25-MD23 | 25

1,100 AJU26-MD23 | 26 12.5| 38 M12| 2 |CPMT120308Z | CPMTO90308 | MS4000A | MS4009A | TF15

1,550 AJUI2-MD29 | 32

| 550 AJU33-MD29 | 33 17 | 43 |M18| 2 |CPMT160408Z | CPMT120408 | MS5011A | MSS0MA | TF20

PAGE 122



1, 600k
1, 600k
1, 600k
[, 600k
1. 600k
1, 10k
1, 650

1,950

2, 000k
2,150

1,600

1,950

2,150

2, 350k
2, 300k
2, 500k
2, 700k
2, 950k
3, 300k
3. 200k
3. 500k
3, 850k

1, 400]

1,300
1,300
1,300
1,300
1,300
1, 500
2,100

www.chllyang.com.tw

BRAT

MR/ e/ IRRs /B

EREISE T

@d

WGR0B8-808-100 8 8 |100] 20 1 P3201-D08 MGR3008 TF8
WGR08-$10-100 10 [100| 35
WGR10-810-100 10 | 10 |100| 25 1 P3201-D10 MGR4010 TF15
WGR10-S12-150 12 | 150 | 36
WGR12-512-150 12 | 12 | 150 | 32 1 P3201-D12 MCGRS012 TF20
WGR12-816-200 16 | 200 | 58
WGR16-316-150 16 | 16 | 150 | 36 1 P3201-D16 MGR5016 TF20
WGR18-516-200 200
WGR16-S20-200 20 | 200 | B5
WGR16-520-250 250
WGR20-S20-150 20 | 20 |150| 45 1 P3201-D20 MGR5020 TF20
WGR20-520-200 200
WGR20-525-200 25 | 200 76
WGR20-825-250 250
WGR25-525-200 25 | 26 | 200 | 45 1 P3201-D25 MGR6025 TT30
WGR25-825-250 250
WGR25-532-200 32 |200| 98
WGR25-832-250 250
WGR25-832-300 300
WGR30-532-200 30 | 32 200 | 50 1 P3201-D30 MGR8030 TT30
WGR30-832-250 250
WGR30-832-300 300

Dimensions,mm
WGR0B-MDOS 8 |85 |16 | M4 | 1 P3201-D08 MGR3008 TF8
WGR10-MD10 10 |85 |20 M5 | 1 P3201-D10 MGR4010 TF15
WGR12-MD11 12 |85 | 22 | MB | 1 P3201-D12 MGRS5012 TF20
WGR12-MD14 8530 | M8 | 1
WGR16-MD14 16 |85 |28 | MB | 1 P3201-D16 MGRS5016 TF20
WGR20-MD18 20 (105 30 (M1O0| 1 P3201-D20 MGRS5020 TF20
WGR25-MD23 25 (125 40 (M12| 1 P3201-D25 MGR&025 TT30
WGR30-MD29 30 (170 43 M18| 1 P3201-D30 MGR2030 TT30

PAGE 124




1,100

Order Reference

1T

7D @D1 ©D2 L1

T

L testh ©d

1, 100

15

100

1, 250

1, 550

| 18 |

| 120

120 |

I, 250

SIS

6 | 1 |

1, 250

22

15

100

I 400

27

18

120

1, 400

SRR

120

wwlwi N NN




www.chllyang.com.tw

BRAT

BN / B /R /[ B

1 JJPO10 1.0 33 36 2 3 50 600
2 JJPO11 1.1 35 39 2 3 50 600
3 JJPO12 1.2 39 42 2 3 50 600
4 JJPO13 13 42 45 2 3 50 600
5 JJPO14 1.4 46 49 2 3 50 600
8 JJP015 1.5 49 5.2 2 3 50 600
7 JJPO16 1.6 52 55 2 3 50 600
8 JJPO17 1.7 55 5.8 2 3 50 600
& JJPO18 1.8 58 8.1 2 3 50 600
10 JJPO19 19 6.2 85 2 3 50 600
1 JJP020 20 9 9.8 2 3 50 600
12 JJP021 2.1 1 114 2 4 50 700
13 JJP022 22 11 11.4 2 4 50 700
14 JJP023 23 11 115 2 4 50 700
15 JJP024 24 12 128 2 4 50 700
16 JJP025 25 12 12.7 2 4 50 700
17 JJP026 26 12 12.8 2 4 50 700
18 JJP027 27 14 14.9 2 4 50 700
19 JJP028 28 14 15 2 4 50 700
20 JJP029 29 14 15 2 4 50 700
21 JJPO30 3.0 14 14.4 2 6 50 1, 000
22 JJP031 3.1 15 15.5 2 6 50 1,000
23 JJP032 32 15 15.6 2 6 50 1, 000
24 JJP033 33 15 15.7 2 6 50 1,000
25 JJPO34 34 16 16.2 2 6 50 [, 000
26 JJPO35 35 16 16.3 2 6 50 1,000
27 JJP0O36 36 16 16.4 2 6 50 [, 000
28 JJPO37 37 18 18 2 6 50 1,000
29 JJP038 38 18 18.1 2 6 50 1,000
30 JJP038 39 18 18.2 2 6 80 1,000
31 JJPO40 40 18 18.3 2 6 60 1, 000
32 JJP041 4.1 19 204 2 6 60 1,000
33 JJP042 . A2 19 20.4 2 6 60 1,000
34 JJP043 43 19 205 ¥ 6 80 1,000
35 JJP044 4.4 21 22.6 2 6 60 1, 000
36 JJPO45 45 21 22.7 2 6 60 1,000

PAGE 127



